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Lattice 3 by 2

Use lattice multiplication to solve each problem.
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
318 x 22 = 826 x 99 = 357 x 96 N 6,996
3 1 8 8 2 6 3 5 7
0// O,’/ 1,’/ 2 7// 1.7 5// 9 2// 47 6,’/ 9|2 81,774
0(.” 6,7 2|,7 6 8.7 2,7 8|,7 4 3(.7 7{,” 5|, 3
,/’0/0/1,’ ,’7/1/5/ /’1/3/4/
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, , , . . , . ‘ ‘ 4 9,027
5. 56,191
4) 177 x 51 = 5 677 x 83 = 6) 867 x 32 =
6. 27,744
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7 136 x 45 = 8) 457 x 96 = 9) 319x 52 =
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10) 481 x 19= 11) 393 x 84 = 12) 597 x 63 =
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